SX-15 Tile & Grout Tool AW105 Part # Description Qty

NA031B Gun Handle

100010 Spray Gun Handle
BR272 1/4" 45° Elbow

BR282 1/4" 90° Elbow
NA0804 Brass Strainer Adapter
NA0803 Strainer

NA0802 Brass Strainer Body
AH102B 1/4" Male Quick Connect
NM5776 Internal 1.5" Endcap
NM5778 1" Grommet

NM4080 10/32 x 1 5/8" Screw
NM4081 10/32 Hex Nut
NM5602 SX-15 Handle Decal
NM5774 Weldment Handle

AHO02 Hose End 1/4" x 3/16"
NA40A 50" x 3/16" Solution Hose
AHo1 Hose End 1/8" x 3/16"
NA034 1/8" Quick Connect
PAO51 2 1/2" Hose Clamp

NM5726 36" x 2" Vac Hose
NM5763 Outer Shell
NM5784 Oval Nut

NM5768 Swell Latch
NM5770 3/8" Bushing
NM5780 3/8" x 2" Screw
NM4085 3/8" Hex Nut
PA189 3/8" Flat Washer
BB NM5600 SX-15 Head Decal
CC 1602-8716  Brush Rina

EE NM5761 Inner Shell

FF  NM5765 Vac Relief Ring
GG PKLFo1 1/8" Male Quick Connect
HH NX105 Swivel with Flange

DPNXXSI<CHTOWIODVOZIIITXSETITOTMTMODO®>

>

N o= W= = = = = == NN WWZ =N = 2 2 == 00 = = = = ==~ - ==

taa I NM5766  1/4"x 1/2" Screw
Q) ﬂ% i JJ NX115 12" Tee Bar
RO " Lo KK B632 1/8" Stainless VeedJet
0—§=—!ﬂl-—g JJ
B [



